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In the diagram below, [image: image1.png]


.

[image: image2.png]



Which statement must be true?

	1)
	[image: image3.png]




	2)
	[image: image4.png]




	3)
	[image: image5.png]




	4)
	[image: image6.png]
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In the diagram below, [image: image7.png]


.

[image: image8.png]



Which two statements identify corresponding congruent parts for these triangles?

	1)
	[image: image9.png]XV and /C= LY





	2)
	[image: image10.png]VZand 0= /X





	3)
	[image: image11.png]




	4)
	[image: image12.png]VZand A= /X







3
The diagram below shows a pair of congruent triangles, with [image: image13.png]ZADB

DB



 and [image: image14.png]ZABD

OBD



.

[image: image15.png]



Which statement must be true?

	1)
	[image: image16.png]ZADB

OBD





	2)
	[image: image17.png]FABC = LADC





	3)
	[image: image18.png]




	4)
	[image: image19.png]






4
In the diagram below of quadrilateral ADBE, [image: image20.png]DE



 is the perpendicular bisector of [image: image21.png]AB



.

[image: image22.png]



Which statement is always true?

	1)
	[image: image23.png]ZADC

‘BDC





	2)
	[image: image24.png]L RAC = ZDAC





	3)
	[image: image25.png]




	4)
	[image: image26.png]






5
In the diagram of trapezoid ABCD below, diagonals [image: image27.png]AC



 and [image: image28.png]BD



 intersect at E and [image: image29.png]AABC = ADCB



.

[image: image30.png]



Which statement is true based on the given information?

	1)
	[image: image31.png]




	2)
	[image: image32.png]




	3)
	[image: image33.png]L DR

‘BAD





	4)
	[image: image34.png]ydoin):3

'BAC







6
In [image: image35.png]MABC



 shown below with [image: image36.png]ADC



, [image: image37.png]AEB



, [image: image38.png]CFE



, and [image: image39.png]BFD



, [image: image40.png]MNACE = AABD



.

[image: image41.png]



Which statement must be true?

	1)
	[image: image42.png]LACFK = /BCF





	2)
	[image: image43.png]ZDAR

DFE





	3)
	[image: image44.png]ZBCD

"ABD





	4)
	[image: image45.png]LARR = LADF







7
In the diagram below, [image: image46.png]MNARC = ABED



.

[image: image47.png]



Which statement is not always true?

	1)
	[image: image48.png]




	2)
	[image: image49.png]




	3)
	[image: image50.png]L RAC = /L EBD





	4)
	[image: image51.png]ZACE = L DBR







8
In the diagram below, [image: image52.png]


.
[image: image53.png]



Which statement can not be proven?

	1)
	[image: image54.png]LXVY = ZTVS





	2)
	[image: image55.png]LVYX = ZVUT





	3)
	[image: image56.png]




	4)
	[image: image57.png]






9
If [image: image58.png]


, which statement is always true?

	1)
	[image: image59.png]LELT = ZNMO





	2)
	[image: image60.png]LETL = ZMON





	3)
	[image: image61.png]L = MC





	4)
	[image: image62.png]JE = ON
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If [image: image63.png]


 and [image: image64.png]203



 is the shortest side of [image: image65.png]


, what is the shortest side of [image: image66.png]


?

	1)
	[image: image67.png]




	2)
	[image: image68.png]




	3)
	[image: image69.png]




	4)
	[image: image70.png]NP
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If [image: image71.png]


, then [image: image72.png]BC



 must be congruent to

	1)
	[image: image73.png]Ji





	2)
	[image: image74.png]K





	3)
	[image: image75.png]5T





	4)
	[image: image76.png]
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Which statement is not always true when [image: image77.png]


.

	1)
	[image: image78.png]




	2)
	[image: image79.png]




	3)
	[image: image80.png]S CAB = LZXY





	4)
	[image: image81.png]LBCA = L VZX
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Given [image: image82.png]MABC = ADEF



, which statement is not always true?

	1)
	[image: image83.png]




	2)
	[image: image84.png]msA = ms D





	3)
	area of [image: image85.png]MNABC




 area of [image: image86.png]MNDER





	4)
	perimeter of [image: image87.png]MNABC




  perimeter of [image: image88.png]MNDER
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Given the information marked on the diagrams below, which pair of triangles can not always be proven congruent?

	1)
	[image: image89.png]AABC and ADBC





	2)
	[image: image90.png]20
H

AEFG and AHIG





	3)
	[image: image91.png]AKLJ and AMJL





	4)
	[image: image92.png]N P R
ANOP and ARSP
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Skye says that the two triangles below are congruent.  Margaret says that the two triangles are similar.



[image: image93.png]5cm

12cm

13cm






1
ANS:
2
REF:
081102ge

2
ANS:
4

[image: image94.png]



REF:
081001ge

3
ANS:
4
REF:
011216ge

4
ANS:
1

[image: image95.png]


[image: image96.png]M ADK

ABDC



 by SAS
REF:
082316geo

5
ANS:
4
REF:
080905ge

6
ANS:
4
REF:
081501ge

7
ANS:
4
REF:
061410ge

8
ANS:
2

(1) is true because of vertical angles.  (3) and (4) are true because CPCTC.
REF:
061302ge

9
ANS:
3
REF:
061102ge

10
ANS:
1
REF:
011301ge

11
ANS:
3
REF:
081309ge

12
ANS:
2
REF:
011624ge

13
ANS:
1
REF:
011703geo

14
ANS:
4

1) SAS; 2) AAS; 3) SSS
REF:
062216geo

15
ANS:


Yes.  The triangles are congruent because of SSS [image: image97.png](5%+12° - 13%)



.  All congruent triangles are similar.
REF:
061830geo

